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Solving Trigonometric Equations

1) Solve each equation for exact solutions over the interval [0,27)

N

2X = COSZX_—1
1) X 2) 2

3)

. 53
5) SInZ?X—2=0 cot3x =3
7) 3tan3x =3 J2cos2x =-1
. X . X A
9) smE:«/ﬁ—smE 24/3sin2x =+/3
11) sinx =sin2x

. X X
Sin—=Cos—
2 2

13)

15) cos2x —cosx =0

Solve the equation 2 cos? x+3 cosx+1 =0

1) For the principal values, (giving your answers in degrees)
2) For all angles between 0° and 360°

3) For all possible angles, that is, the general solution

Solve the equation cos? x + 2sinx =1

1) For the principal values (giving your answers in radians)
2) For all angles from O to 2nt

3) For all possible angles, that is, the general solution
Solve, if possible, the following equations

1) 3cost-2sint=4,

2) 3cost-2sint= 13,

3) 3cost-2sint=1for0O<t<2m

4) 3sin2t+cos2t=2

Show that the equation 15sin? 9 =13+coso may be written as a quadratic equation in cose.

Hence solve the equation for gin the range [0,360]
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